Chapter 1 Test

Name________________________
Graphing (10 pts.)
A scientist has developed a new grass that may be better suited for football fields. She wants to determine the optimum (or best) amount of fertilizer to put on the grass. She sets up an experiment. The picture and data table shown below show data from and give you an idea of how she did her experiment. (Note: darker grass is greener)

Fertilizer Experiment Data

	Amount of fertilizer applied (g)
	Increase in height (mm) after 2 weeks

	0.0
	14

	0.0
	15

	0.0
	15

	1.0
	17

	2.0
	24

	3.0
	30

	4.0
	33

	5.0
	34

	6.0
	32

	7.0
	26

	8.0
	14

	9.0
	2
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Graphing (9 pts.)

A scientist has developed a new grass that may be better suited for football fields. She wants to
determine the optimum (or best) amount of fertilizer to put on the grass. She sets up an
experiment. The picture and data table shown below show data from and give you an idea of how
she did her experiment. (Note: darker grass is greener)

Fertilizer Experiment Data
Amount of | Increase in
fertilizer | height (mm)

applied (g) | after 2 weeks

0.0 14

0.0 15

0.0 15

1.0 17

2.0 24

3.0 30

4.0 33

5.0 34

6.0 32

7.0 26

8.0 14

9.0 2

1) Graph the data for this experiment on the paper provided. Be sure to include a title,
labels for your axes, properly scaled axes, and plotted points. Connect the points of the
graph with smooth line through the data points.





1) Graph the data for this experiment on the paper provided. Be sure to include the following:

· Title 

· Labels for your axes

· Properly scaled axes 

· Plotted points

· Connect the points of the graph with smooth line through the data points.

Multiple Choice (3 pts. Each)

Identify the letter of the choice that best completes the statement or answers the question.
2) The size of the box and the amount of sunlight, moisture, soil, and grass seed are the

A) variables.

B) controls.

C) experimental group.

D) constants.

3) The three boxes at the bottom all had zero grams of fertilizer. These boxes serve as the

A) constants.

B) control.

C) experimental group.

D) conclusion.

4) The best amount of fertilizer to use is 

A) exactly 4 grams.

B) about 5 grams.

C) 9 grams.

D) more than 9 grams.

5) The independent variable in the experiment is the

A) amount of fertilizer.

B) height (and/or color) of the grass.

C) amount of water.

D) all of the above.

6) The dependent variable is the

A) amount of fertilizer.

B) height (and/or color) of the grass.

C) amount of water.

D) all of the above.

7) Based on the data, which of the following is NOT true?
A) It is better to use 3 grams of fertilizer than 2 grams.

B) It is better to use 6 grams of fertilizer than 3 grams.

C) It is better to use 9 grams of fertilizer than none.

D) It is better to use 1 gram of fertilizer than 8 grams.

